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131.

Which of the following suffixes can convert
certain nouns into adjectives?

(1) -ness (2) -ful

(3) - fully (4) None

132.

The passer-bys stood silent on the side road.
1 2 3 4

There are grammatical errors in

(1) Part 1and?2 (2) Part1and3

(3) Part2and 4 (4) Part3 and 4

133.

Point out the incorrect adverb.
(1) Speedily (2) Slowly
(3) Fastly (4) Gradually

134.

Which of the following does not mean 'blackout'?
(1) Temporary or permanent loss of vision

(2) Aloss of power

(3) Give black colour to the outside wall

(4) A sudden darkening of a theatre stage

13S.

I was surprised by his urbane behaviour. Which
one of the following alternatives is nearest in
meaning to the underlined word in the above
sentence?

(1) rural (2) polite

(3) proper (4) town

136.

The decision is fraught with grave consequences.
The underlined part here means

(1) feared with

(2) filled with something unpleasant

(3) causing worries and anxiety

(4) none of these

137.

I know where he keeps his money. Identify the
subordinate clause.
(1) Noun clause

(3) Adjective clause

(2) Adverb clause
(4) None of these

138.

The bags are on the table.

Which one of the following is a correct tag
question to the above sentence?

(1) are they? (2) aren't the bags ?

(3) aren't they? (4) isn't the table ?

139.

Give the orders.

Mark the passive voice of the sentence.
(1) Please give the orders.

(2) They should be given orders.

(3) Let the orders be given.

(4) Let them give the orders.

140.

Insert appropriate prepositions :

Ravina is good Maths but weak .......
English
(1) in, at
(3) at,in

(2) into, in
(4) in,in

141.

Choose the most appropriate usage.
(1) Rahul gave his examination.

(2) Rahul wrote his examination.

(3) Rahul took his examination.

(4) Rahul appeared his examination.

142.

Quoting the figure unwillingly, he let the cat out
of bag.

The underlined part means -

(1) ordered the cat to come out of bag

(2) allowed the cat to come out of bag

(3) told the secret by mistake

(4) quoted the figure of amount in the bag

143.

Which of the following is the closest synonym
of 'large'?
(1) huge
(3) giant

(2) big
(4) voluminous

144.

Which of the following is not misspelt ?
(1) leiftenant (2) lieutenant
(3) liuetenant (4) leftnant

145.

Fill the blank with correct alternative.
The inspector has kept him in the .......
(1) sale (2) shell (3) cell (4) sail

146.

One who lives on the earnings of others is called

(1) paralytic
(3) parasite

(2) paradise
(4) paradise

147.

Choose the correct alternative to mean to be
better than somebody or something.

(1) outshine (2) outstanding

(3) outnumber (4) outrun

148.

Choose the most appropriate usage.
(1) TIlike the poems of John Keats
(2) Ilike the poems from John Keats
(3) Ilike John Keats' poems

(4) Ilike John Keats's poems

149.

The two ugly boys had gone home just now.
The parts of speech of the underlined words
respectively are -
(1) Adverb, Noun
(3) Adjective, Noun

(2) Adjective, Adverb
(4) Adverb, Adverb

150.

....... God help you.

Fill in the article.

(1) The 2) A

(3) An (4) No article

151.

(a) Pancreas secrete insulin.

(b) She tried to keep it secret from his family.
(¢) Your letter is an open secrete.

Choose the correct alternative in relation to the
above sentences.
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(1) (a) and (b) are correct 159. Police ....... looking for a man with one eye.
(2) (a)and (c) are correct Choose the correct verb to agree with the
(3) (b) and (c) are correct subject.
(4) (a), (b) and (c) are correct (1) 1is (2) are
152. I....... pay the bill today; it's the last date. Fill in (3) had (4) has been
the appropriate modal auxiliary. 160. You throw the stone and I will run.
(1) should (2) may Change into a complex sentence.
(3) can (4) must (1) Throw the stone to make me run.
153. Itis a terribly hot climate. (2) If you throw the stone, I will run.
Identify the parts of speech of the underlined words. (3) IfIrun, you throw the stone.
(1) Main verb, Adjective, Adverb (4) I will run because you throw the stone.
(2) Aux verb, Adverb, Adjective 161. Choose the correct alternative to complete the
(3) Main verb, Adverb, Adjective sentence.
(4) Aux verb, Adjective, Adverb Monica asked Ronica if .......
154. What you have seen just now is the tip of the (1) she joins the group
iceberg. (2) she will join the group
The underlined part connotes - (3) she would join the group
(1) the peak of the ice-hill (4) she should not join the group
(2) ahint to tackle big problems 162. Do you know anyone who can lend me a shirt ?
(3) asmall portion of a very large mass of ice Name the underlined subordinate clause.
(4) asmall part of a problem which is larger than (1) Noun clause (2) Adjective clause
it seems (3) Adverb clause (4) None of these
155. Which of the following alternatives is closest to 163. Choose the best order of words to make a
the proverbial expression 'Blood is thicker than meaningful sentence of
water'? Loud street awfully these disturbing are noises.
(1) Blood is more valuable than water. (1) These are street noises disturbing awfully loud.
(2) Water flows easily; blood does not. (2) Disturbing are these street noises awfully loud.
(3) Blood relation is not the condition to be (3) These awfully loud street noises are
intimate. disturbing.
(4) Family relationships are stronger than (4) These are loud disturbing awfully street noises.
relationships with other people. 164. Which of the following is not associated with
156. Vanita is a past master at getting the things done. the polyseme "present'?
The underlined part suggests (1) agift
(1) Vanita is the owner of the past things. (2) to be physically somewhere
(2) Getting things done was easy for Vanita in the (3) busy in work
past. (4) to show or display
(3) Vanita commands the work process as the 165, She was caught by a sudden pang of conscience
master of house. for scolding the girl.
(4) Vanita is an expert in getting the things done. The underlined word contextually means
157. Parents know the pains of parenting. (1) afaculty of mind that decides right or wrong
Identify the type of the underlined nouns. (2) an understanding that makes you alert
(1) Common, Collective (3) a feeling of guilt about something you have
(2) Collective, Proper done
(3) Common, Abstract (4) a mental state that does not allow to use your
(4) Collective, Abstract senses
158. Maya seldom visits Mina and Company. 166. Choose the correct alternative to complete the
Choose the correct question tag. sentence.
(1) , does she? (2) , doesn't she? When 'faithful’ is prefixed with'un
(3) ,did she ? (4) , didn't she ? (1) it converts Adjective into Adverb
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(2) it converts Adverb into Adjective

(3) it converts Adjective into Noun

(4) it maintains the original word class/part of
speech

167.

Give a single word for a person who eats all
types of food.
(1) Herbivore (2) Carnivore

(3) Omnivore (4) All rounder

168.

Had they (be) properly instructed, they
would have ....... (shut) the windows.

Use appropriate forms of the verbs in the bracket.
(1) were, shut (2) being, shut

(3) been, shut (4) been, shutting

169.

He said he ....... hire an auto.

Fill in the modal auxiliary to indicate the
possibility of hiring an auto.

(1) may (2) might

(3) can (4) would

170.

Who teaches you English?

Which of the following is the correct corresponding
passive structure of the above sentence?
(1) Whom is English taught to you?

(2) By whom are you taught English ?

(3) Is English taught to you by whom?

(4) By whom do you teach English ?

171.

Identify the mood.

I wish I were Bill Gates.

(1) Indicative (2) Imperative
(3) Subjunctive (4) None

172.

You will get hats in fair price in the country
fair.

The underlined words are

(1) Synonyms (2) Homonyms

(3) Antonyms (4) None of these

173.

The new billing system opened a Pandora's box
of mistakes in the bills.

The underlined part contextually means

(1) Opened a box owned by Pandora.

(2) Opened a new system to calculate and pay the
bills.

Caused a lot of new and unexpected problems.
Provided a new box named Pandora's box to
keep bills.

A3)
“)

174.

11

"Could you turn the TV up ?, I said to her.
This sentence could be put in reported speech as
(1) T asked her that she should turn the TV up.
(2) Itold her if she could turn the TV up.

(3) I asked her if she could turn the TV up.

(4) Isaid her if she could turn the TV up.

175.

I was kept waiting by the Boss.
Change the voice.

(1) The Boss wanted me to wait.
(2) The Boss kept me waiting.
(3) I was waiting for the Boss.
(4) The Boss made me wait.

176.

Everything seemed quite normal.

Choose the correct exclamatory expression.
(1) Everything is really normal !

(2) How seemed everything normal !

(3) How normal everything seemed!

(4) Normal, seemed everything!

177.

Steel is more useful than gold.

Rewrite the sentence using 'less' without chang-
ing meaning.

(1) Gold is less useful than steel.

(2) Steel is less useful than gold.

(3) Steel is useful less than gold.

(4) Less useful is steel than gold.

178.

Very few men are as generous as he is.
Change the degree of comparison.

(1) He is the most generous man.

(2) He is one of the most generous man.
(3) He is one of the most generous men.
(4) He is one of the few generous men.

179.

I did my work. I went to college.

Which one of the following sentences combines
the above sentences into a single simple
sentence?

(1) After doing my work I went to college.

(2) Having done my work I went to college.

(3) 1did and went to college.

(4) I went to college doing my work.

180.

The drunk was very drunk.

Identify the tense.

(1) Simple present (2) Simple past
(3) Past perfect (4) Present perfect

181.

Choose the utterances with correct punctua-
tion marks.

(1) : What an interesting story!

: Oh... really!

: What an interesting story!

: Oh, really!

: What an interesting story!

: Oh, really?

: What an interesting story?

: Oh, really.

2)
3)
4

182.

Which of the following is not a homograph?
(1) Clear (2) Clay
(3) Bow (4) Conduct
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183. Fill in blanks with suitable articles.
Shiva is ....... honest servant in ....... firm.
(2) an, the
(4) the, the
Identify the sentence with the mood different
from that of remaining sentences.
(1) Roshan goes to college regularly.
(2) Roshan writes legibly and speedily.
(3) Roshan, are you okay?
(4) Roshan, open your notebook.

184.

185. The function will take place ........ 8.00 a.m. .......
10.00 a.m.;

Choose the most appropriate pair of prepositions.
(1) from, and (2) since, to

(3) till, and (4) between, and
Read the following passage carefully and answer the
following questions (186-190) :

Why do most people heat their food and eat it while it
is still hot ? There may be a number of explanations for
this. One is that man, who once a hunting animal, likes
his food to be at the temperature of a freshly killed prey.
Although we no longer eat freshly killed meat, we still
eat it at much the same temperature as other carnivorous
animals. Their food is hot because it has not yet cooled
down, ours is hot because we have reheated it. Another
explanation may be that since we have weak teeth, we
are forced to cook the meat to make it tender. But this
does not explain why we should want to eat it while it
is still hot or why we should heat up many kinds of food
that do not need tenderizing. The third explanation is that
by increasing the temperature of the food we improve its
flavour or taste.

In fact, we do many things to improve the flavour of
our food. This goes back not to our carnivorous nature,
which is an adopted thing, but to our more ancient links
with the apes. The foods of the apes have a much wider
variety of flavours than those of carnivorous. Although
a carnivore goes through a rather complex process
in hunting and killing its food, the manner in which it
actually eats the food is simple and crude. It quickly
chews or swallows the food. Monkeys and apes, on
the other hand, are extremely sensitive to the different
flavours of food. They enjoy them and like to try out
foods with different flavours. When we heat our food and
put spices in it, we may be going back to the same love
of tasty food that is found in the apes. Perhaps this is why
man never became completely carnivorous.

In this connection, there is something else about
man's taste for food which needs to be considered. Why
do most people have a sweet tooth - that is - why are

12

they specially fond of sweet things? This is something
unknown in carnivorous animals, but typical of the
apes. As the natural food of the apes becomes riper and
more suitable for eating, it becomes sweeter. Monkeys
and apes are very sensitive to a sweet taste. Like other
members of the ape family, we find it hard to resist sweet
things. Our relationship to the apes shows itself in spite
of the fact that we have a strongly carnivorous nature
in our seeking out specially sweetened substances. We
have "sweet shops' but no 'sour shops'. We usually end a
meal with something sweet, so that this is the taste which
remains in our mouths for a long time afterwards. Also
when we feel the desire to eat something between meals
- and this is another reminder of our links with the ape
world - we usually choose something sweet :chocolates,

ice cream or sweet drinks.

186. In what manner do carnivorous animals eat
their food?
(1) By hunting and killing their food
(2) By using their sweet teeth
(3) By quickly chewing and swallowing the food
(4) They enjoy eating their food

187. We improve the flavour of our food because -
Choose the correct alternative that completes
the above sentence :

(1) We are carnivorous animals.

(2) We have ancient links with apes.

(3) We want to run 'sweet shops'.

(4) We heat our food.

Which sweet substances are generally eaten by
man between meals?

(1) Chocolates, ice-cream or sweet drinks

(2) Sweets which are cooled down

(3) Sweets which are flavoured

(4) Sweets that can be eaten with weak teeth

188.

189. What proves that man has ancient links with
the apes?

(1) Their foods have a wider variety of flavours.
(2) They hunt and eat the food in the same manner.
(3) They improve the flavours of their food.

(4) They are completely carnivorous.

190. People have a sweet tooth.

What does the above sentence imply?

(1) People's tooth is coated with sugar.

(2) People are specially fond of sweet things.

(3) People are not canivorous.

(4) People have the ability to resist the sweet

things.
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Read the following passage and answer the questions
given below (191-195) :

Every day now, when the tide was out, I went on
board the ship. Gradually I brought away all the sails and
the rigging. | even brought some iron cables, but these
proved to be too heavy for my raft. On the way back to
the shore, it turned over and the cables fell into the sea.
However, when the tide was out, I was able to recover
the cables one by one. On one of my trips I was very
pleased to discover some more food, including sugar,
flour and bread.

Very soon I had been on the island for a fortnight and
had made, eleven trips to the ship. On my last trip of all |
noticed a cupboard which I had previously over-looked.
In it were three razors, a large pair of scissors and a dozen
good knives and forks. There was also some European
money, worth about thirty six pounds in all.

By now I had taken everything from the ship which
was of value to me, and I began to consider where I should
live on the island. My tent was on rather low ground near
to the sea and I did not think that it would be healthy to
live there for very long. There were four points that [ had
to bear in mind in choosing the site of my home. First
of all, I needed to find a place which would be healthy
and near some fresh water. Secondly, there ought to be
protection from the heat of the sun. Thirdly, I had to be
safe from attacks by wild animals. Last of all, I needed to
have a view of the sea so that, if any ship should chance
to come near to the island, I would not miss it.

191. What did the sailor do when the tide was out?
(1) He found one of the cables.
(2) He got back two cables.
(3) He got back all the sails and some cables.
(4) He found two cables beside each other.

192. On one of his trips he was pleased to discover
(1) some more flour and bread.

(2) some sugar and some bread covered in flour.
(3) some sugar-bread and some flour.

(4) some sugar, bread, flour and other food.

193. Why did he want a view of the sea?

(1) To see if any ship came near.

(2) To see the ship that was coming to rescue him.
(3) To avoid any ships that came near.

(4) It wouldn't matter if he missed seeing a ship.

194. Choose the correct alternative to fill in the
blank. Gradually 1.

all the sails and the rigging.

(1) came (2) dance

(3) carried (4) left
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195. Tick mark the adjective of the noun 'protection’.
(1) Protector (2) Protectful
(3) Protective (4) Protectively

Passage for (196-200) :

As Shanta stood absorbed in thought, the squat school
peon bustled up to her, settling his shoulder-belt that
hung the opposite way to his sacred thread. He slammed
Shanta and said, The big Bai-Sahib wants you.

Big Bai-Sahib wants me? said Shanta to herself. Why
was she being sent for ? Shanta had finally escaped the
clutches of annual examinations; but all forms of school
mechanics, from the annual inspections to summons
from the 'Big Bai-ahib,' she found as burdensome as the
big examinations. She had never quite recovered from
the giddy sensation it had given her to be caught up in
the whirl of an educational machine from which not
only spontaneous vocation but even sincere cordiality
was wholly absent. As a pupil she had been on the first
floor of this factory, now that she had taken her degree
and attained to teacher hood, she was on the second
floor; but that was all The same harsh, inharmonious
clanging continued there; the same life impelled by
forces extraneous. Nowhere did this life contain the joy
of creation. There was nothing in it to make her inward
life bloom.

Shanta's inner faculties were drying up. They were
becoming dry twigs that came near snapping at every
strong gust of air. Being sent for by the Headmistress
was an occasion of that sort. Bleakly, Shanta walked
towards the school office.

Cautiously she pushed open the spring half-door of
the Headmistress's office and entered. The Headmistress
sat at her desk, signing routine papers. A clerk stood by,
bent deferentially, turning papers and indicating places
for signature. As Shanta appeared at the door, she spoke
loudly in an extremely artificial voice: "Come in, come
in," Shantabai. Sit down here. I have almost finished.
Well, no, quite a few papers yet. Mr. Kulkarni, will you
wait a while, please ?

Kulkarni respectfully stepped away from the desk
and stood staring in another direction.

'Big Bai' delicately removed her glasses and held
them by an earpiece in one hand as she spoke. 'l wanted
to say to you,' Shantabai, that you must have your girls
do a little more written work. I have been reviewing the
work of the whole school for the last month, and that is
what I think. Your class seems to be behind the others
in written work. As a matter of fact, you have plenty of
free time. No distractions at home. No pulls on you but
school work. And can it be that you still think it tiresome
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to examine notebooks ?... No, no... You mustn't do that. It
would be very bad for the class. The girls never get a firm
grasp of any subject till they have written the thing out.
One really must have them write out at least one question
in each subject every week.

And so forth.... for some time. Her voice was quite
gentle; but the gentleness pricked. The face was smiling;
but the screen of that smile hung thinner than muslin.
She had, as well as she could, summoned up an air of
authority and maturity; but through it showed clearly her

sense of her own inadequacy.

196. The Headmistress sends for Shantabai in order to
(1) show her serious mistakes.
(2) examine the notebooks.
(3) instruct her to give more written work to girls.
(4) show her own authority and maturity.

197. The phrase her sense of her inadequacy refers to

(1) Headmistress's feeling of Shanta's imperfections

(2) Shanta's feeling of Headmistress's imperfections
(3) Headmistress's feeling of her own imperfections
(4) Shanta's feeling of her own imperfections
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198.

Why did Shanta feel the gentleness of the

Headmistress prickly?

(1) Headmistress's voice was artificial.

(2) She used harsh words.

(3) She instructed to give more written work.

(4) She was not sensible enough to understand
creative act of teaching.

199.

Which of the following statements is not true in

the context of the passage?

(1) The Headmistress insisted on exam results.

(2) Spontaneity and sincerity were far from
school mechanics.

(3) Shanta gives at least one question to write in
a week.

(4) Shanta viewed education beyond examinations.

©® SR ®

200.

Most appropriately, the passage reflects on

(1) the routine picture at the school.

(2) the Headmistress's dissatisfaction
teacher's work.

(3) ateacher's disgust of school examinations.

(4) a sensible teacher's suppression of creativity
in stereotype school work.

over
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